Let’s find the equivalent admittance between terminals G and H.

This problem is to be worked completely in terms of admittance.

We must remember that parallel admittances add together, and when they are in series we apply the formula that we traditionally use for parallel impedances.

We have two elements in series.

The circuit has a lot of symmetry in it.

These two elements are also in series.

We will apply our formula: we add together the reciprocals and take the reciprocal of that.

Then we have these two admittances, and we can make a simplification.

These two elements are in parallel, as are these two.

Parallel admittances add together.

We simply add all of the values that we see inside the indicated pink boxes.

These two pairs of elements are in series.

We’ll apply our more elaborate formula for both of those.

Finally we end up with two elements in parallel, so their admittances add together.

That gives us our answer, so we are finished.
